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Grades 10-12

Algebra 2/Trigonometry 1
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Solving Logarithmic Equations
Worksheet

[image: image1.png]Directions: Solve for x. Round your solution to three decimal places.

log(x —6) = 2log2x +1) x= %] 7+3men) =6 +=0.358

log,(x)—log,(x-1)=1 «x= & log(x +5) =log(x—1) —log(x +1) x:z

The number of hospitals, N, in the United States from 1995 to 2002 can be modeled by
N =7312-6301In(¢), 5<t<12 where 7 represents the year, with 7 = 5 corresponding to

1995. During which year did the number of hospitals reach 5800?
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